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10-58. See below:

a. 9x2

L
b. 02

e
= o

d. 162x*

10-59. Let g = ground speed (mph) and w = wind speed (mph). 1809 = (g —w)3.6 and 1809 = (g + w)3. Considering the precision of measurement,
g =553 miles per hour and w = 50 miles per hour.
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10-46. See below:

a. See solution graph below.

Frequency
v
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The median is 257 rpm. The graph is single-peaked and skewed. The IQR is O3 — Q1 =263 —253 = 10 rpm. 291 rpm is apparently an
outlier.

c. The median. Because the data is not symmetrical and has an outlier the mean is not an appropriate measure of center.

10-47. y<-2x+2
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10-48. Yes, by AAS =. Reflection on any line, then rotation and translation.

10-49. If she deposits the money for 5 years, the simple 2.5% interest is better; if she deposits the money for 25 years, the 2% compounded interest
account is better.

10-50. See below:

am=3
b.m=6
c.m=-5
dm=15

10-51. See below:
a.x=3or-11
b.x=14

c.x=2
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10-52. See below:
a. (% ,-2)
b. (4,-9)
10-53. See below:

a. See sketch below. The medians of the two groups are virtually identical. Both groups have uniform distributions of ages. Neither group has
any outliers. However, the ages in Group 7B are much more widely distributed (have much more variability) than the ages in Group 7A. The
IQR for 7A is only 70 — 53 = 17 years, while the IQR for 7B is more than twice as wide at 77 — 39.5 ~ 38 years. The minimum for 7A is 20
years older than the minimum for 7B, and the maximum for 7A is 22 years younger than the maximum for 7B. Note that the small number of
data points does not allow for bin widths on the histogram much narrower than 20 years; it is not appropriate to create bin widths of 10 years.
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b. Either. Since the data distributions are symmetric and there are no outliers, either measure of center is appropriate.

10-54. See below:
ax=4orx=—4

b.x=79o0rx=-1.5
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10-55. See graph below.

10-56. a

10-57. See graph below. The graph is a continuous curve. It is decreasing with a domain of all real numbers and a range of y > 0. The y-intercept
is (0, 1). There are no x-intercepts. It is a function with an asymptote of y = 0.




